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Convolution theorem

L

F(fg) = F(T)*F(g) —
F {(F*G)=F (F)F *(G)

Theorem F-Y(FG) = F- L(F)*F }(G)
F(f*g)=[ f(t)g(t-t) fwe““"dt dt’
Proof (1) — : f (t')e_i”t'dt':_o:o g(t—t)e ' Mdt
=1 (t')e‘i“’"dt'.i g(t")e ' dt"

=F(1)F(9)
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Convolution Theorem
Example

Téet *d&=0 by symmetry
Tes’deé=vr
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Hence f*g=X
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